quation. Checkyour

the e
: EXAMPLES USING THE DISTRIBUTIVE PROPERTY Solve
i2and3 solution. 14+ 2(4g—3) = 40
: on pp. 139-140 15. 3 + 4(z +5) =31 e ) = =5
: for Exs. 15-26, 36 . o . B = 200 = 10
7 ST 2 (e 1) = o e = 12y = B@y— @
98— 33 (6520) 22, —2(4x—5 +62x+1) =6
e )6 :
| @)sex -4 -36x-D =6 GG — A0z D =Tt
25, 2G5 = 1) aF 307 = 4) =13 §
; . (B = 2m) = 12¢
‘ & MULTIPLE CHOICE What is the solution i 7w = (& V)
25. @ . @ 26
@ -3.6 2
26. ® MULTIPLE CHOICE Which equation is equivalentto
¢k D) = 25w =) = 12
3(4x ) (5 e @ 22x =12
@® 2x=0 ® 2x=24 ©) 22
o solution.
. EXAMPLE4 | MULTIPLYING BY A RECIPROCAL Solve the equation. Check your
* secesesssssssessessense 4 o
:onp. 140 1 S St LS 98, =7 = i) = 12
for Exs. 27-35, 27. g(d +3)=5 28. 2(x 5) 3
37 2 s
=8 4 2ip) = 10
30. Sa+4) = -18 gl 2= 6) = <8 32. @2
= 2y
33. 4=2u4y -2 34. —32=33w-1 35. —14 = £(9 - 2D)
9 7
ERROR ANALYSIS Describe and correct the error in solving the equation.
36. 37. 1
Bx = 3(x —6) =2 ‘ E(Zx—10)=4
Br<3x — 18 = 2 2x—10 =2 |
2x—18 =2 2x =12 ><
| 2x = 20 >< x=6
e ——— N
| SOLVING EQUATIONS Solve the equation. Check your solution.
|
| 38. 8.9+ 1.2(3a— 1) = 14.9 39. —11.2 + 421 + g) = —0.8
| A0 LS BB = S Al L = 76 — 54 11
| 42 05=4.1x-2(1.3x— 4) 8,7 = 3.5m - 2.5(5.4 — 6m)
;
| - ! 1 il
| S SIS A = S 506) = 0 45. 3.5(2x + 1.8) — 2(3.2x + 5) = 8.9
@ GEOMETRY Find the value of x for the triangle or rectangle.
46. Perimeter = 24 ft 47. Perimeter = 26 m
(x + 4) ft 4x ft
(2x — 6) m
100x — 1) ft (x+3)m
142 @ = MULTIPLE CHOICE PRACTICE O =HinTs
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